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BA R 358 334 692 334
FA R HET 91 112 203 108
FLETE 105 89 194 107
fE./ =HT 35 55 90 51
2DOLME 54 74 128 87
SEhE 573 556 1,129 490
[LZEHT 183 228 411 213
BERAHER/RKES 227 180 407 149
TERROEE 4454 4,644 9,098 4,402
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T EHT 46 52 98 45
il 66 69 135 68
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FIATHHET 591 558 1,149 534
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[P N ) 173 160 333 188
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L ARET— X 153 149 302 150
RHE 228 218 446 242
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L ARET X 208 234 442 218
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[ i EHET 506 505 1,011 569
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ITHROEE 5081 5,211 10,292 4,969
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KA 547 507 1,054 540
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sk Sl 63 77 140 75
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4% 32 32 64 31
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= 23 24 47 27
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KR 39 43 82 33
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"RAE 6 5 11 6
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